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‘Psyche’ word was used in this meaning by Greek

Philosophers

1. Mathematics
2. Goddess

3. Soul

4. Education

JIR QAR ‘ARCH FINR UG YT 26Q MR

QQEEM |
1. Qe
2 6QQQ!
3. 9

4 Sl

The philosopher who tried to explain inanimate cognitive
activities

Plato
2. Aristotle
3. Agustin
4, Socrates
1. Plato
2. Aristotle
3. Agustin
4, Socrates
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The author of ‘Hereditary Genius’
1. Goddard

2. Francis Galton

3. Kallikak

4. Kellog

‘62ARCIR AU QIR QTR SRR
1 69IRIQ

2 FIRAY FINGR
3. Qne

4 6PN

This is high in the post childhood stage of children
1. Imitation

2. [rritation

3. Fear

4. Angry

QA NN TRAFOIEQ L] Qlélég@ 2]
1. 2GR

2 oD

3. Aoy

4 el



“Learning is the process of change in behaviour due to
experience and training”. This is defined by

1. Dececco & Crawford
2 Herbert & Kohler

3. Hilgard & Hunter

4 Gordon & Freud

"AQR6G 6 IV AIRIFER ARG AR Jalg JVE
QLIAN" - ARl IR FQ6M

1L 6% 99 gOe

2. 2QIF I6° 6RILNA

3. QQ0IE 99 24Q

4. 6QIPIR IS° gYQ

Intelligent quotient of gifted children is
1. 140 and below
2. 140 and above

3. 130 and above
4. 130 and below

doaiade dals Qe
1. 140 @ @¢
140 Q Q%

2
3. 130999
4 130 Q Q¢



This is used in Educational Psychology research studies to
measure static dispersion.

1. Standard Deviation

2. Quartile Deviation

3. Mean Deviation

4. Range

IR CI6RIARIA A6QVE 2ULAEQ IR AQNTR IR
RAAAIR I2IQ ISTIQ FAUAIN
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2. 9gare gyd
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4. Qi

The part of the brain that controls the endocrine system
1. Thyroid Gland

2. Adrenal Gland
3. Pancreas
4. Pituitary Gland

2282191 RYGe FAR8 *@Q2Ql AIFQ IR 2°F
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3. 2LlSIL
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10.

11.

The children with special needs should be provided with
quality education in regular schools. This resolution was
passed in world Education Summit at spain in this year

6ARR6Q QTG ¢ JQ AFARFIEQ “ARIIAS SIRAER
90q aediael el daKies AR IR ddl gee
RAUTR” - gAULT 2AFEAUNR ARSI QT

1. 1894

2. 1994

3. 2010

4 2020

Expand UNICEF

UNICEF Q2IQ @6m

1. United National International Children Education Fund

2. Universal New Information Children Education Fund

3. United National International Children’s Emergency
Fund

4. Universal New Information Children’s Emergency
Fund

“Disability” reflects the consequences of impairment in terms
of functional performance and activity by the individual, is
defined by

VG R@6R, MBIATE  AGIKRT N AN
AL ARG QHQ @IRG! JOTRG 6291 | RIq

QYIS @GJem

1. WHO, 1976
2. UNO, 1976
3. RCO, 1976
4. RTO, 1976



12.

13.

14.

The problem faced by children in reading

1.

2.
3.
4

Dysgraphia
Dyslexia
Dyspraxia
Dysnomia

ARICI6R A0ULRNEQ AYRJIQ AFYSHR 62917 AR QLI
1. @Qgiell

2. @Q engall

3. GQgIga

4. @6l

Expand IEP
IEP Q219 @6@

1
2.
3.
4

Individualised Examination Plan
Individualised Education Preparation
Individualised Examination Programme

Individualised Education Programme

Human life from 2 weeks to 2 years is called as this stage

1.
2.
3.

4

Old age
Neo natal
Infancy
Adult
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15.

16.

Creativity means

1. Production process + Useful
2. Production process + Useless
3. Useful + No Production Process

4. Atrticle + Machine
QIR @26m

1. Qe g9l + 2aI6Qe,

2. QIR J@9l + AQRQIEQ
3. QAN + 2QIee Il
4. Qg+992

According to Gagne for ‘School Management, designing
learning, development essential knowledge for evaluation,
understanding and strategies’ is

1. Computer Education

2. Educational Technology

3. Educational Psychology

4. Environmental Science

dioera 2AQQig, ‘@R JAQIRQl, Y8 CRAR G
JRISE QPRI AR QAN RIQ, 2R 9e°
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4 JR6R4 GRIQ



17.

18.

Benda (1954) defines those who are not able to do activities on
their own, needs attention and support of others are said to
have

1. Visual Impairment
2. Multiple Disability
3. Hearing Impairment

4. Intellectual Disability
699G (1954) Q°VI AQQUL, CAACNER FF QT F6R KRR

QIR AY L8, ANFIRT 16216916l 9Q° ARITG! AR
QQ2E, 64C6R 62R8T

1. Q36QI®

2 QRIR 2N
3. g4 6QI9

4 6QlER Q¢

The disability that takes place due to imbalance in secretions
of endocrinal gland

1. Down’s syndrome
2. Cranial Anomalies
3. Cretinism

4. Hydrocephalus
2289191 QA UAZRR AQE! 629 1 IRIQ 618 2AVAG
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19.

20.

Some children often changes the numerical place value. This is

one of the characteristics of
1. Learning Disabilities

2. Intellectual Disabilities
3. Locomotor Disability
4. Multiple Disability

62609 AN JIR68 LR 1A R A0LRE @RI |
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1. 396 ale
2. 6918 asq
3. OR9 29
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The first part in the middle ear is

1. Pinna
2. Cochlear
3. Eardrum

4. Auditory Nerve
eda geie QU

1. Qiayed
2 4699

3. odaee
4. Q8



The head quarters of all India Institute of Speech and Hearing
is located in

1. Bengaluru
2. Mysuru
3. Hyderabad
4. Chennai

YR AAG QIR-24 AQIIFQ IR MOI6Q 2ASFS
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2. QeKQ
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Individual with normal vision will see the place with 180°
angle. It is called by
1. Visual Function

2. Visual Acuity
3. Visual Efficiency
4 Visual Field
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23.

24.

Expand NIEPVD
NIEPVD QI @6

1. National Institute for the Empowerment of persons with
Visual Disabilities

2. National Institute for the Education of people with
Visual Disabilities

New India Education Policy for Visual Disabilities

4. New India Economic Power for Visual disabilities

If a person has different disabilities, his disability is said to be

1. Loco motor
2. Visual

3. Multiple

4, Mono

68 QYT 016Q @2 AR AVAG! &6 PRI YT AJAG!
QAR F6RPR| KL
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25.

26.

To encourage Primary Education in our country. This
programme was started in 1996-97
1. Andhra Pradesh Primary Education Project (APPEP)

2. District Primary Education Programme (DPEP)
3. Operation Black Board (OBB)
4. Sarva Shiksha Abhiyan (SSA)

26 6@46a gIeIFia dNIq A2Ee 969l AR N8 IAIgE
1996-97 6Q 2IQR 6RIRMI

1. 2996949 gl2fie 991 99% (APPEP)

2. @wlgede §91 @1dYge (DPEP)

3. 29609R QIR 691% (OBB)

4. Q9 Q1 AVAIR (SSA)

The Education Commission was formed in 1964-66 is
1. Sri Krishna Commission

2. Janardhan Reddy Commission
3. Sundaraih Commission
4 Kothari Commission

1964-66 7192I6Q PTG QI *ASR
1. §198 *F8Q

2. Q998 6081 /fdQ
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4 6RI0IQ SR



27.

28.

29.

Visual acuity is assessed with the help of
Guide Chart

1.
2. Flow Chart
3. Snellen Chart
4, Picture Chart
98 9/0I N2l 1Al URRR FAILIN
1L QIR ol
2. 6Ol

3. 69689 9IF
4
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Lok Jambush Programme was launched in the year
‘MR @YY G?Iﬁ‘l@ﬂ’ 2% RAJINE Qg

l. 1992
2. 1892
3. 1995
4. 1895

This will happen when the back part of brain is damaged
1. Dyslexia

2. Cerebral Palsy

3. Cancer

4. Ataxia
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Persons with Blind use this script to read and write
1. Hindi

2. Chinese
3. Braille
4. English
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61.

62.

63.

Christopher Columbus America in 1492.
Choose the option that fits the blank.

1. discovered

2 was discovered

3. was discovering

4 had discovered

Yesterday I went to an interesting museum that I
before.

Choose the option that fits the blank
1. was not visited

2 am visited

3. have visit

4 hadn’t visited

Choose the grammatically correct sentence from the following.
1. I have received no information.

2 I have received no informations.

3. Mumps are a bad disease.
4

Please give me some informations.



64.

65.

66.

67.

Choose one of the characteristics of a short poem:

1.

2.
3.
4

lengthy descriptions
detailed plot development
use of concise language

multiple characters

Identify the properly punctuated sentence.

1.

I need to buy eggs, milk, bread and butter from the
store

I need to buy eggs milk bread, and butter from the store
I need to buy eggs milk bread and butter from the store.

I need to buy eggs, milk, bread, and butter from the
store.

Choose the correct sequence of the words in which they appear
in the dictionary.

A) recipient B) relation C) relative D) record

1
2
3.
4

A D B C
B C A D
D A B C
C B A D

Identify the linker that denotes contrast:

1.

2.
3.
4

additionally
however
first

meanwhile



68.

69.

70.

71.

72.

Identify the complex sentence:

1.

2.
3.
4

He goes to work by bike or he takes the bus.
Although it was cold, she went for a swim.
The cat chased the mouse, but it escaped.

She sings beautifully, and she plays the piano.

Choose the correct plural form of the noun: ‘goose’

1.

2.
3.
4

g00ses
gooseys
geese

goosies

Identify the relative adverb in the following sentence:

“This is the place where we met.”

1
2
3.
4

1S
we
met

where

Choose the meaning of the phrasal verb that means ‘to keep or
retain something”.

1.

2.
3.
4

hold onto
take up
put off

run out

Choose the characteristic feature of an interrogative sentence.

l.

2.
3.
4

They express strong emotion
They end with an exclamation mark.
They typically ask questions.

They make statements



73.

74.

75.

76.

She asked me, “Are you happy in your new job?”

Choose the correct indirect speech for the sentence above.

1.

2.
3.
4

Everyone at the supermarket

girl.

She asked me if [ had been happy in new job.

She asked me if [ was happy in my new job.

She told that was he happy in your new job.

She asked me whether I had happy in my new job.

Choose the correct verb that fits the blank

1.

2.
3.
4

are
being
were

was

A device for reproducing sound.

Choose the one-word substitute for the expression above.

1.

2
3.
4

audiophone
phonograph
phonometer

actionometer

Choose the correctly spelt word.

1.

2.
3.
4

mercinary
mercenery
mercinery

mercenary

looking for the missing



77.

78.

79.

80.

“Won’t you say, a long desired aspiration was fulfilled?”
Choose the synonym of the word ‘aspiration’

1. attitude

2 failure
3. ambition
4

trouble

He had been at the point of going several times, but never
made it.

Choose the antonym of the word ‘never’
1. at no time

2 no way
3. scarcely
4

always

Identify the factor that hampers the speed of reading.
1. Running the finger along the lines

2 Reading with eyes

3. Silent reading

4 Holding the book with hands

The vocabulary which is not being used by us in our day to

day life, but we can identify them when we see them in text, is
called:

1. working vocabulary
2 active vocabulary

3. receptive vocabulary
4 Ad Hoc vocabulary



1.

82.

83.

ILM, which has become popular in the field of English
Language teaching, stands for:

1. International Language Material

2 International Learning Material

3. Interactive Learning Material

4 Interactive Language Mathematics

NCF 2005 recommends  environment in the classroom.
1. individual

2 inclusive

3. exclusive

4 diversified

Read the following passage.

The ancient ruins stood stoically in the desert sands, their
weathered stones bearing the weight of centuries. The sun beat
down relentlessly, casting harsh shadows across the barren
landscape. Among the ruins, whispers of a forgotten
civilization lingered, hinting at the secrets buried beneath the
shifting sands.

Select the correct statement based on the passage:

1. The ruins were located in a lush, green forest.

2 The desert sands were cool and welcoming.

3. The sun's rays were scorching creating dark shades
4 The ruins showed no signs of weathering or age.



&4.

85.

86.

87.

Read the following passage.

The ancient ruins stood stoically in the desert sands, their
weathered stones bearing the weight of centuries. The sun beat
down relentlessly, casting harsh shadows across the barren
landscape. Among the ruins, whispers of a forgotten
civilization lingered, hinting at the secrets buried beneath the
shifting sands.

Choose the correct statement based on the passage:

1.
2.

The desert landscape was bustling with activity.

The ruins were hidden from view, obscured by dense
foliage.

Whispers of a forgotten civilization added to the
mystery of the ruins.

The shifting sands revealed no traces of the past.

In constructivist Approach, all work in the class needs to be:

1.

2.
3.
4

1solated
offline
decentralised

interactive

Socio — cultural theory was proposed by:

1. Vivian Cook

2. Vygotsky

3. Steven pinker

4 Krashenstephen

There will be no life water.

Choose the option that fits the blank.

1.

2.
3.
4

for
within
outside of

without



88.

&9.

90.

Identify the main clause in the following sentence:

If it snows tomorrow, we will build a snowman.

1.

2.
3.
4

If it snows tomorrow
We will build
tomorrow we

SNOwWS tomorrow

Choose the modal verb that is used to indicate a strong

recommendation.
l. can

2. should

3. might

4 may

Identify the incorrect statement regarding the omission of

articles.

1. Articles are omitted before names of countries, cities
and states.

2. Articles are omitted in expressions of time, place or
movement.

3. Articles are omitted before abstract nouns used in
general sense.

4. Articles are never omitted before proper nouns.



91.

92.

93.

The sum of the biggest 3 digit number and the biggest 2 digit
number

GR U@ Qd QL LG Ye° 9r U Q] QLar eI
691G

. 1100
2. 1098
3. 1198
4. 1298

I millimeter (mm)=___ meters
18R @cq (@.8) = dea
1 1

2 0.1

3. 0.01
4 0.001

Two numbers are in the ratio 5 : 3. If they differ by 18, then
the numbers are

QRG QI 5 : 3 AQUIPER AT | 9@ 69F QT J6LQ
18’ 6@6m 698 A°HIIGER

l. 45,27
2. 42,30
3. 40, 32
4. 33,39



x+1 3

If == then the value of ‘x’
2x+3
= x+1 3 s
== 6¥6EM ‘X’ Q ?]jh‘{
x+3 &
L
2
2. 2
3., U
2
. L
14
J64 %38 =
1. 9
2. 6
3. 10
4. 8

The length and breadth of a rectangular field are 50 m and
15 m respectively. The ratio of length to the breadth of the
field is

LGP IR [SAATIINI~ g9 Qalgea 50 fdoq 9e°
15 §15Q 626/ QITIQ 656 Q° d4a 2AQdle

1 5:3
2 3:10
3. 10:15
4 10:3



97.

98.

99.

1.
Convert 3 into percent

% Q §999163 9RI8 F6R

1

1. 125%

2. 25%
50%

4. 75%

Salim bought an article for Rs. 784 which included GST of
12%. then the price of the article before GST was added is
(in Rs.)

ANIF @ QLY 12% GST FGIRQl J6Q ©. 7846Q @&iEm
GST f9IRQI geQ 9gQ gl (CF16Q)

1. 730
2. 720
3. 710
4. 700

If Rs. 7000 is borrowed at the rate of 3.5% p.a., then the
amount to be paid at the end of the two years (in Rs.)

QTR 3.5% QUIAAEA ©.7000 Q¢ FATIR | @R
69960 6d0 @RI gLl IFIQ 671G (SIER)

l. 7500
2. 7490
3. 7600
4. 769



100. If Javed was given ; of a basket of oranges, then the fraction

of oranges left in the basket

R G6Q 2l KARIQ % QUG FI6AQQ 6Q6M FHEQ AWYQ

QEIRIQ 21°6]
. 4
7
2. 2
7
3. 2
7
4. L
7

101. The median of the data
16,12, 14, 19, 12, 14, 13, 14

QRN ¢l
16, 12, 14, 19, 12, 14, 13, 14

1 14
2. 13
3. 19
4 12



102.

103.

104.

The perimeter of Rectangle whose length is 10 cm and breadth
is 8.5 cm (in centimeters) is

636 10 6Q.8., 99 85 6Qd. IO FFL LS 6I9Q
AQQIA (62.91. 6Q)

1. 24
2. 38
3. 36
4. 37

Parallelogram with right angles

1. Rectangle

2. Isosceles Trapezium
3. Trapezium
4. Rhombus

ARERIEYER &l AR 689G
1 290 689

2. Q¢ §QIg SI6AFAe

3.  QleaFas

4. QqQ

The number of edges in a Cube

L IR L°GMl

l. 8
2. 10
3. 6
4. 12



105.

106.

The sum of the measures of two angles in a straight angle.
If one of them is obtuse angle then the other should be

1.
2.
3.
4.

Right angle
Acute angle
Reflex angle
Straight angle

Q9G 6RIEQ FIAQ 6710 Q@ AR 6QIEl | 68 F1RIQ 6TIIG
IRERIS 6REM ARY 6QRI8IT

1.

2.

QA6
Q64
g9e 634

PUNNNNY

A straight path that has one end point and goes on and on in a
specified direction is known as

1. Line

2. Point

3. Ray

4. Line segment

9@ QQ0IQ ZIaR 62IR ARe G96a JUIARY W9 21
QR ORG 6T

1. 9o 6adl

2. QQ

3. QF

CQGlIGI



107. 82 mnpisa

1. Monomial
2. Binomial
3. Trinomial
4. Polynomial
82 mnp @

1. @ JQ1

2. §AQ1

3. Q991

4. QLU

108. Factorise x*yz+xy’z+xyz’

Pyz+x’z+ w2’ Q 2QIee fda ea

1. X (yz+zx+xz)
2. V(xy+yz+zy)
3. xyz(x2+y2+zz)

4. xyz(x+y+z)



109.

110.

w5140
(4 -(3) (1) aae sa

1. 16
2. L

16
3 4?

Raju’s father’s age is 5 years more than three times of Raju’s
age. If his father is 44 years old then Raju’s age is

AYA QI QWY, AUFQ WA GFGE  asadl
5 Qd 2@ | 98 QUG FIAIF Q0D 44 6N 696Q AFA
ole

1. 13
2. 15
3. 39
4. 29



111.

112.

Convert 15 7 500 m/ into milliliters.

1. 1550 ml
2. 155 ml
3. 15500 m!/
4. 15000 m!/

15 @. 500 6.0.9 R ACACQ IS F6M
1. 1550 ¢.&.

2. 155 Q@

3. 15500 G.@.

4, 15000 9.Q.

Tirupathi to Chennai (Tirupathi Express) departure time is
6:05 am and arrival time 12:10 pm. Total time of the journey
is (in hours)

GQAG 0IQ 60RIR (CQUG 1Y) BIGAl AL,
6:05 am Q° JLEQI ALY 12:10 pm. 626M 641G YIG!

QA (LLIEQ)
1. 6:50
2. 6:05
3. 6:10
4. 6:30



113. The side of a cube whose surface area is 600 cm?.

1. 10 cm
2. 100 cm
3. 1 cm
4. 600 cm

600 Q4 62.81. JAGR 6AFTR TR AAAR QIR 6L

1. 10 6Q.4.
2. 100 6Q.4..
3. 168
4. 600 6Q.9.

114. If the circumference of a circular sheet is 154 m, then its
diameter is

1. 50 m

2. 245m

3. 49 m

4. 25.5m

QRN PAQAQ AR 154 F1.626M ILQ QUIQ
1. 504

2. 2454

3. 49 4.

4, 25.5 ¢



115.

116.

Telugu word ‘Ganitham’ is derived from this Sanskrit word

1. Gunam
2. Gan

3. Math

4 Counting

‘ QEIGIF " RN 60QY JRT N8 A°Ye JeQ IS

1. q89
2. <
3. que

4, SR RAR|

The value preparing the student for future life after completion
of school education comes under

1. Utilitarian value

2 Cultural value

3. Disciplinary value
4

. Preparatory value
A1el TR FYI AANT V6Q VEVYE F19 IR YIS
62QI, 2! IgRIQ FRISI

L QUeLee qmical
2. APYER GRIEA
3. JHRe qmieal

4. dg6 9ee qmical



117.

118.

The method of solving a problem by dividing it into several
parts is

1. Analytic method

2. Synthetic method

3. Inductive method

4. Deductive method

AAQY AARIIR IR AAAITG FOR AR 9B 9F,
QARG KRR Y&lIR1T

1. QESIS gSliR1
2. Q638 GSlIRT
3. 6L YSIRT

4. UQ6QI2 9EIRT

A wooden board device made by fixing nails in horizontal and
vertical rows at equal distances is

l. Geo board

2. Peg board

3. Grid paper

4. Black / Green Board

N@ @l0U6 @dEQ Kelle QQOIER YLUAIBR NQ° Yme]
AUIGER RLIRY AFIR SR FALIRYQ! QUKQEIT

1.  @669Ie
2.  699691%
3. g1 609Q

4. @R/A9w JG!



119. A plan to teach the content in sub unit of a topic in a period is

1. Year plan
2 Unit Plan
3. Lab Plan

4 Period plan

2AI6Q Rl Y@ 4] YHYQ IVAALY JAARER FJIQUR
RAQ! IR G2IA FAIDR! 621!

1. Q8 619l
2. 909 6918l
3. JRIFIGIQ 6QISR!

4. JQQQ 6UIRQ|

120. The type of questions in which we write the answers by
selecting the option

1. Very short answer questions
2 Essay type questions

3. Short answer questions

4 Objective type questions

0F Agl QG QY AAQ PLR A0 ERYQ! AR g
1L UGYQ Q@A re

2. QK Q89 e

3. 99 20 gee

4. QgAI Q@@ R



121. The thread like structure in the nucleus of the cell are called

1. nucleoplasm
2. chromosomes
3. nucleolus

4. cytoplasm
6QI8Q MACQ AUSLE oI AQE F09q el QRIFN

1. 8

2 el

3. Q&

4 6RI9R1SR

122. Plant and animal species which are found exclusively in a
particular area are

1. Endemic species

2. Extinct species

3. Endangered species

4. Invasive species

R G8Y 2EREA IOT LIER QIR ABQ 8 YT Q1T
1. 989 Qe

2. QQ9QlG
3. QU99g @IG
4 63699 2FNE RS



123.

124.

The material used to prepare ‘Artificial silk’ is
1. Cotton

2. Wood pulp

3. Wool

4. Silk fibre y

QU 6T L6 @R IR QLS IFIYl 6L
1 @dl

2 @O (1}

3. dgl¢l

4 cQislel ol

In William Nicholson’s Experiment, hydrogen bubbles are
formed on

1. Diode

Positive electrode

had

Negative electrode

.l;

Both positive and negative electrodes
‘éﬁh&lﬂ FERNARE JQAIYEER, N8l ATEQ LURELIEHRY

6CHERI S0 99
1. Ql6QIQ

2. URINR RENER,IR
3. QIR RERER,IQ

4. QU JXIR NQ° QIR MEMER, I}



125. A small bulb-like projection coming out from the Yeast cell
during reproduction is

1. Bud

2. Tumour
3. Node
4. Sprout

deee Au6a Q@ 6RI9Q Qg ARSI e
QARIA0RQ 2l @RI

1. Il
2 QAR
3. o

4 UG

126. The distance covered by an object in a unit time is

1. Displacement
2. Acceleration
3. Velocity

4. Speed

601N Qg Y@@ ATYEQ UCYT @AQI 9O

1. qIae
2. QA
3. JR6QQ

4. Q6!



127. Example for non-magnetic material

l. [ron

2. Cobalt

3. Nickel

4. Plastic .

AR NI LRI QQILAE
1. el

2 6QIQIMQ

3. Geam

4. QI

128. The major gas present in our surrounding air is

1. Nitrogen

2. Oxygen
3. Carbon dioxide
4 Water vapour

29 0814 QYR 2SI AFRYR ARSI I
1. 99QIeRIR

2. AGRIA

3. 2AIQRIE),
4. SRINQI



129. The bones of the skeleton that enclose the below portion of our

stomach

1. ribcage

2. shoulder bones
3. pelvic bones

4. carples

el 6dOR @FI6R Rl UYL QR A AYYQ! @&
&g

1 Qg 98I

2. 09

3. 6918116 1S w!
4. Q9GR

130. In general, this vehicle is NOT used for the transport of goods.
1. Ships
2. Cargo planes

3. Trams

4. Wagons

ARIQEIGS I QIREA AR AGLLR [N QI
1. Qe

2 Q1661 QRIRIRIR
3. 99
4. AQReSl



131. The biggest and visible excretory organ in our body

1. Kidneys
2. Lungs
3. Liver

4. Skin

2l AR QLR Q° Q¢ 6QRR 51

1L 9]e
2. 9999
3. Q99
4. o9

132. The person who helps us to carry luggage
1. Porter

Mason

Potter

. Cobbler
Y 6QIZQI6Q 2lAg AILILY @G

6QIgell
AR
QA
6Q1Q

Bowon

Ll -))



133. James Mill published the book “A History of British India” in
65¢ FIR  §5¢ VIACA IR QLAY FINIR QEY IRIFQ

@Qeal 9d
1. 1896
2. 1853
3. 1817
4. 1800

134. The word ‘Lithosphere’ originates from this language
1. Latin

2. Spanish

3. French

4, Greek

‘NI FIRG G QUTIQ QAR 62IRE
QSR
AFQ
gt
LN

= LN

135. Identify the false statement about Jainism
1. Main goal of Jainism is to attain ‘Moksha’

N

Twenty Five ‘Thirthankaras’ enriched this religion
3 ‘Thirthankaras’ are the spiritual gurus of the Jainism
4 ‘Panchavrathas’ are the main Doctrines of Jainism

6506 Aqe1a Fenl AQ60] 980 @a |

1L 659 dFQ g AQY 6298 '6AIN QAR KR!
2. 25 R4 PSR & dAQ MIE QIAYER

3. QISR 6ER dFQ AUAR 99 2R

4. U899 689 dFQ g ARIS 26T



136. The number of days taken by the moon to orbit the Earth

1.

2.
3.
4.

25 days

26 days
27 days
28 days

0R QA91 99E96a g 2ITR AR NG GG QI

1.

2
3.
4

25 @@
26 Q@R
27 Q@
28 @@

137. Nelapattu Flemingo bird sanctuary is located at

1.

2.
3.
4.

Pulicot lake
kolleru lake

Chilka lake
Dal lake

CRMICIY 666N IQT AVAIQAGY NE 0I6Q Q&S

1.

2
3.
4

JnRIQ 29
6RI6RQ 2Q
ONR| 2Q
QR 2Q

138. Founder of ‘Asiatic Society of Bengal’

1.

2.
3.
4.

William Jones

Macaulay
Charleswood
William carey

QRITR 6QIARG 2T 6QFIN'Q GV

p.—l

Ll

GRAe 6919
6rIRIEM
oINQ ¢Q
GO QU1



139. Identify the mis matched pair

1. Evergreen Forests - Mahogany, Ebony, Rosewood
2. Deciduous Forests - Teak, Sal, Bamboo

3. Mangrove Forests - Deodar, Silver Fir, Spurs

4, Thorny Forests - Acacia, Thumma, Naga Jamudu
OR 62IR 22l 60150 T89 @9

1 CRLR UQEY - AIRIGIF, 6QIF, gl

2.  adeqot QY - SRR, dIR, ARG

3 2R Ferm - 6RQQIQ, ANVA FQ, A
4 @R @M - 2RISR, M, RIGETEI1

140. A popular harbour related to Indus civilization was found in

this city
1. Harappa
2. Lothal

3. Kalibangan
4. Mohenjodaro

dg ANYGI AL YD &JQ IR RISl QA Y& AFAER
0lQ @AUAIRYMI -

1. 294l

2. 6RiaIR

3. QQIeNe
4. €l6268IQQ



141. This is not an example for civil case

1.

2.
3.
4.

Sale of land case

Rent matters case
Theft case
Divorce case

62991 QIFIRIQ N2l IR RIS Q6%

1.

2
3.
4

*f I QAR

QR SIAER IR
621Q1 QAR
21eaQ QAR

142. The poisonous Gas that caused Bhopal industrial Disaster in

1984

1. Carbon monoxide

2. Methyl Isocynate

3. Sulpher dioxide

4. Methane

1984 6Q LATS 6LIR S Qﬁ@éll@ @] 6LINCR
QeI QI

1. AL QARNT),

2 dellan ARcAARECRY
3. AT LI 2AFING

4 aeeR

143. The suitable soil for cultivation of cotton is

1.

2.
3.
4.

Alluvial Soil

Red Soil
Sandy Soil
Black Soil

@Al AR 9IF AR AYYR AW

1.

2
3.
4

69104l F@a!
6MEE @
QIR e

Qg e



144. This was called as “The First war of Independence”

145.

1. Quit India Movement

2. Non-co-operation Movement
3. Salt Satyagraha
4. 1857 Revolt

V219 ‘e YRG! A°GIT QIR QLI
1L Qe 8¢ dealee

2 2AR6AIG 2ICRARR

3. Q98 AMIge

4 1857 Q69QIQ

“Environmental science is a mechanism that protects or
conserves environment” — is stated by

1. The Eswaribhai Patel committee — 1976-77

2. The National Education Policy — 1986

3. A.P.J. Abdul Kalam

4. UNESCO National commission.

‘dR6RE YR 62RE U@ TR LI AAEEQ Yo &4l
QRS KRN - F18 B FREM

1. Q991 QR A6oR 965 1976-77

2. QIo1g A9 1G 1986

3.  AP.J QM @mI

4.  UNESCO @I91g @889



146.

147.

Highest level of objective in Affective Domain

1. Organisation

2. Receiving

3. Characterisation

4. Valuation

QAN IR RS A
1. QG0

2 928 KR!

3. ©9QQ 594

4. MFQQE

As per Edger Dale’s cone of experience more learning

happens in

1. Direct benefit experiences
2. Fictional experiences

3. Sound signals

4. Visual symbols
@IQ 60N AQRG! dg QIR el I QYR FQé

QG

1. deid 2A9e6 AIw
2. QIFFQ ARG

3. 4R Adewe

4 QalY AR



148. The act of creating and following a scene similar to a real life
scene is known as
1. Field trip

2. Simulation

3. Role play

4. Survey

QIgR F1IRRQ AGEI AQF U@ Q4 QT @7 692Q AGAQE!
RAQIQ IR @93

1. 699ddyee

2. dguemaq

3. Qe geed

4, Q6@

149. The Third step of the project is

1. Planning

2. Choosing and Purposing
3. Providing a Situation

4. Evaluation

geg QIdiea 9o1a 6QIANRT
1. CUIQe

2 QUG B AR
3. e 999G 6919194
4 Ry



150. A Social Science teacher should have this quality of
1. good subject knowledge

il. a good tourist
iii.  agood Researcher

@648 AAGTR FRIQ IV & VS Q&R QIR
i QAR RIQ QEQ| QSR

i. Q99 9JYee 629l 2R

iii. QA VIR 629! IR

1. 1&ii

2. 1 & iii
3. il & iii
4. 1, 11 & il



